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QUESTION 1

Each Plug-in separates method content from processes. What are two subcategories of processes? (Choose two.) 

A. Content Packages 

B. Capability Patterns 

C. Custom Category 

D. Delivery Processes 

Correct Answer: BD 

 

 

QUESTION 2

What is a benefit of balancing competing stakeholder priorities? 

A. Achievement of business value 

B. Reduction in custom development 

C. A better understanding of what assets can be leveraged D. Ability to understand and prioritize business and user
needs 

Correct Answer: B 

 

QUESTION 3

Which three work products belong in the Project Management discipline? (Choose three.) 

A. Risk Management Plan 

B. Business Case 

C. Test Evaluation Summary Report 

D. Project Plan 

Correct Answer: ABD 

 

QUESTION 4

Which of the following is true about the generalization relationship? 

A. It is represented by a dashed arrow 



B. It is represented by a diamond symbol. 

C. It is a special form of aggregation 

D. It is often called inheritance 

Correct Answer: D 

 

QUESTION 5

What relationship(s) can a work product have to task? 

A. Input only 

B. Output only 

C. Input and Output 

D. Optional input, mandatory input and output 

Correct Answer: D 

 

QUESTION 6

Which of thefollowing workflow details belong to the Project Management discipline? (Select all that apply) 

A. Evaluate Project Scope and Risk 

B. Monitor and Control Project 

C. Management iteration 

D. Understand Stakeholder Needs 

Correct Answer: ABC 

 

 

QUESTION 7

What is the purpose of the Project Plan? 

A. to assess the feasibility of the project 

B. To establish project staffing 

C. To describe thephases and major milestones of the project 

D. To provide a sound rationale for project funding 

Correct Answer: C 



 

QUESTION 8

Which three are RUP disciplines? (Choose three.) 

A. Program Management 

B. Configuration and Change Management 

C. Requirements 

D. Analysis and Design 

Correct Answer: BCD 

 

QUESTION 9

When does integration occur in an iterative lifecycles? 

A. In Elaboration, Construction, and Transitioniterations, and sometimes in inception 

B. Only at the end of Elaboration and Construction 

C. Only in iterations that produce external releases. 

D. Only at the end of Elaboration, Construction, and Transition. 

Correct Answer: A 

 

QUESTION 10

Which of the following help to define the iteration Plan? (Select all that apply) 

A. The current status of the project 

B. The Development-Organization Assessment artifact 

C. A list of risks you must address by the end of the iteration 

D. A list scenarios or use cases you must complete by the end of the iteration. 

Correct Answer: ACD 

 

QUESTION 11

What is often the result of applying thekey principle of collaborating across teams? 

A. Specialized skills 

B. Employees that better know their roles 



C. Motivated workforce 

D. Earlier integration 

Correct Answer: C 

 

QUESTION 12

Which three work products belong in the projectmanagement discipline? (Choose three.) 

A. Risk Management Plan 

B. Business Case 

C. Test Evaluation Summary Report 

D. Project Plan 

Correct Answer: ABD 
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